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(x − p)2 + (y − q)2 = r2.
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l = AB�
��
��
 � 
�
���� ������� �
������� 
�
����
�� ��� d = l

2 ������� h = OC �
�� � �� �
��' �


�
������� 
�
� ��� R � ��������� �� 
�
� ��� r �
����'
��
������ 6�

R =
d2 + h2 + (d − h) · √d2 + h2

2h

r =
d2 + h2 − (d − h) · √d2 + h2

2d
.
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d = l
2 = 2 � �h = 1.14 � ��� ����� �
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��
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����� E = 1 � ��� �
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 ��� � 
 � 
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����� �� �
��� �� A(−2, 0)
�B(2, 0)� �� �
 �� � 
 �� �
�
����� ��� �
� � ����
��� � � � ��� � �
��� �� �� � 
�
� ��� r ���'
�� � ������ ��
S1(−1.18, 0) �S2(1.18, 0)� 5� � 
��� ��� 
�
� ���
����� ����� ��
������ k1 �k2 � 
8

k1 :(x + 1.18)2 + y2 = 0.832

k2 :(x − 1.18)2 + y2 = 0.832.
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������������
 �
���
 C(0, 1.14) �� �� �� ��� �
���� �
� �� �
 ���� �
���� �

����� �� � ������ �� 
�
�

��� � ���� � 
�
� ���� R = 3.21 � 
� y��

����� ��8

S(0, 1.14 − 3.21) = S(0,−2.08).

B ���� ����� � ��������� ��
������ k ��8

k : x2 + (y + 2.08)2 = 3.212.
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0��� �� ρ = T1E � 
�
� ��� ��
������ k(T1,T1E)

� �� � �� 
 �ACD� 5�� 
 ���� T1A �T1C �� 
���
����� ����� � �� ��� �
����� ��
� � AC 
 ���� ����

�
� ������ � ������
� 
����
 ��� ��8

AC ∼= x
d

+
x
h

= 1 ⇐⇒ hx + dy − dh = 0.

5�� ����
���
���� T1(d − ρ, h − ρ) 
� � �� ��� AC
�� ρ8

h(d − ρ) + d(h − ρ) − dh√
d2 + h2

= ρ


�� ��� �� �
����

ρ =
d + h −√

d2 + h2

2

�� �
 �� � ������ �� 
� �� � �� ��
������ T1(d − ρ, h − ρ)
�� ��8

T1

(
d − h +

√
d2 + h2

2
,
h − d +

√
d2 + h2

2

)
.

1� 
�
� ��
���T1E�� AC������ ����� � �� ��� �
���
�

T1(d − ρ, h − ρ) ��� ���
�
d
h
�� ��8

y−h−d+
√

d2+h2

2
=

d
h
=

d
h

(
x−d−h+

√
d2+h2

2

)
.
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������ �
���� ��8

R =
d2 + h2 + (d − h) · √d2 + h2

2h
,

� 
 ��
��� �
 y = 0 ������8

r =
d2 + h2 − (d − h) · √d2 + h2

2d
.
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